C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
Y Wrich expression(s) are equivalent to -5/7 2 Vgg ih:;p;;es on(s) are equivalent to .
(+7/5)? A.-35-(5.7)
A. 5/7 + (+1/5) CB: 3355((557? :
8. %+ (Y D.35-(5.7) N
C. Lo+ (7o)
D. 77- () )
5,
9 Which expression(s) are equivalent to 7 - 4) \(’Yl';fh expression(s) are equivalent to 3 - )
AT A3+ (+1)
A Tg+ (7 CB: -33++(i-1i) "
B. 4/8+ (- 4/5) D.-3-(1 8.

C. 4/8 79

® \Which expression(s) are equivalent to - /g - 6) V\éhi;f)‘ expression(s) are equivalent to -2
A A.2-(-1)
A. 5/8 + (+5/8) CB: g ;((+1§)
B. g+ (-7 D.-2+(+1)
C. '5/8 + ("‘5/8)
D. 5/8 - (+5 8)
L Which expression(s) are equivalent to 5/ - ) \(Nlr;',fh expression(s) are equivalent to 3 -
(+1/3)? A.3+(-1)
Yo+ (+79) P
B. 5/6 - (+1/3) D.-3-(1)
C. Y+ ()
/NS
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